r abeq

. 1.%%
< :
-
$0°0$ oLEYIVoL LS 1108852028 'SE°10£'952'0Z8 S9'SZF'0LLGE- 00°2Z2'898°52$ Jeult |ejoy
_$0°0§ OLZHLY0L 118 1£°L0E'852°02% 56°108°'852'02¢ : 50'5Zb'0L LG8 a.o:%:mn_mn:o_:mx ug
00°0$ €TITr'olL'Ls £z'ler'oli'ly ETLEY'OLL LS LLLLy'Blges 00'668°5€5'v$ ~einjonisselul
00°0$ sm.oi_%m.mw : : Rdﬁ.%u..% 1607188228 £9°665" mam- 00:089'v95'2$ oEm_Ea%to.._ onsueLL A eofand omucsmmw .
00°0$ 08'120'228 . 08'20'Z2$ 08'vz0'zes. 0T'516' 25~ 00°000°05$ ugajued
00°0$ 12'991'90%% 12'991'90v$ 1L'901'50v$ 6265V’ 168%- ~00'009'26.$ ouBqin 098y
00°0$ 9¢'ePY'0LYS o¢’ mvv 01vs 9e°chY'0LYS Y9955 Libe- 00°000'858% od1|gnd opeiquIn|Y
00°0% 196°508'621$ vommom 621 96'608'621% PO PELIGG8S- . +00°000'586$ opejllieuedyy 4 afeusiq ‘a|qeiod enby
00°0$ 09°281'0v8 09'26L'0v% 09261078 0¥'z98'veS- 00000628  UgeulIojuj e & 05800y
00°0$ 08'9/5'68% 08'925°58$ 08'9.6'58$ 0Z'62r'BE4S- . 00'000'622$ auaiquy oIpa A E)Boj003
0008 00°erL'8rs 00°ErL'8hS 00°ErL'rs 00°evL'8v$ 10003 *[BI00S UoREOLNWOD
00°0$ £8°/29'5ves 02'£6€'9v2$ 02 /68'9kT$ 08'208'0v1$- 00°002'/8¢$ fedioluniy 4iq
00°0$ - 16°608°LLES . 26'608'21€$ Cupe08'LLES . £0°061'95%- 00°000%.£3 oolpune
00°0$ 00'625'81% --00'6ZY'618 00'621'61$ 5. 100'62K'6LS 0008 : VIIVSINOD
00°0$ ereLo'ores £r°eL9'6v8% £r'elo'ebas : £P'EL0'98ES :00°009'LSS e100S Jejseualg & pnies
00°0$ 01'€98'26$ 3 .S.mwm,ug 01°69£'26% S 06°9€8'€65- 00°002'981$ ouendadoiby oflouesaq
00°0$ -6L°060'¢/6% , m\,.omo,.mhma G1'060'/5% S2'606'0¥5%- - 200°000'vLL'LS mtoama Keinng 'uopeonpg
00°0% 0z5e'1018 0Z:§/€'101$ 0Z'G/E'10LS 0T'SLv'vTs 00°006'9.$ 9 U0ID93101d
00°0$ 0v'€95'0z2$ -0¥'€95 ‘0228 - 0¥£95'0228 - 09°9£9'02€"1 8- 00°002'165°1$ moo__?n_ soioinag A oueqin ojjoressg wS_ssn_ selq0
00°0% ,E.ov.m.owr. 1$ RAR 4R Nm\. mw!li!!érﬁum Y8'TELES. 2GS vy8'v96'LS 00°000'892°L$ 110058 A 'sezueuly
v0'0$ Plzeesers ¥1'226'22vS +81'226'22v$ zo'sLs'ove'Ls- 00°079'899'L$ ousugi) A ealiand pepunbag
00°0$ 00°2c2'Les 00°222'12$ 00°222'228 o0 2eies 000$ Jokel ElleIslO
00°0% 0Z'29v'27L$ ow..mwv Iyl 02'L9¥'1p1S : 08°285'75%- : 00°000'002$ ;. 00IpUIS-UQIDBUIBGOD)
00°0% 09°299'091$ 09°799'991$ v 109'299'991% . ovizes'es- 00000'621$ - oo - OusiwelunAy [op eliejaioas
00°0$ $0'016'682'L$ Nm.oom.\mmhhw 19°005'98.°2$ - 19°969'EL0°LS$ '00°708'2.2'9% -~ epoUspisald
00°0% 0£°0/5'00%% 0£°0.5'00¥$ 0€°0/5'00%$ oLeer'ere- .oo.vo,o.omva opliqed
‘ L eiouapuadeg/owey uig
(vr-g)=9 g 84 (z+1)=¢ A 1
Ry : (ssuolvanpay)
opiolsfoqng opefied opeBuarag opeayipo | sauoroeydwsy oumnoic. ' owawo:oo

sosaibg

‘810Z/2IP/LE IV 8102/ °8ud/40 [ed |
eAJEHSIUIWPY UQIOROYISEID

sosaibg ap me:a:ww._m o_o_o._m—m_ Iop ooneuy ouﬁwm
u . uejeonpopopelsy u
7 IANHVYL 3d OIdIDINNIN

W d Zpi20 :.o_wmaE_ ap So: £V sosaibzoisendnsaidopeisTidi :doy

Josiasadng usn

uu»m%ﬁ 2]

~

6102/198/10 | A BY92S



z:9bed

_ 3 4<n__o_z:_>_ <mm_m0wm»

Jve omuzﬁzsz Q DWzoo AGNID 0

,.._<n=o_ZDs_ OQIANIS
W1 00I8YS ._m:z.&n O_O_._m_ o
i iy
J
I ._<n=o_z%,_ omw
z<o <_m_0ho > ._mm_<m_ YIIVN 'O
,._,; TRz
£ 77 \% \\\\
= W
(v-g)=9 g SRR 4 (z+1)=¢ : _ z - , S
B ; L ‘ : : . : : ?m:o_uu:nomv . :
od1osafagng opebed opebuanag ~. OpedlIpOW 1 sauoenduy - opeqotdy Oun_wo:oo
; . : ‘s0s3163 . : . v .
wd gpigo | ugisdidui ap esoy s : ‘8102/'01p/ L€ IV 810Z/9u8/10 133 |
: BAIRISIUIWPY UOIOBILISE]D
6102/49e/10 | A eYyoad

- . gy soselbgoisendnsaidopeisaid) “nmm
~ sosaib3 ap ojsandnsaid o1o1018[7 |op oo;__m:< ovﬁmm
- . PR ) /V ‘upjeonA ap opejsgy

SEWHYL 30 OldIoiNAW

4

JosiAladng JIsn




